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Name: __________________________________



1
The point [image: image1.png]


 is rotated 90º about the origin and then dilated by a scale factor of 4.  What are the coordinates of the resulting image?

2
If the coordinates of P are [image: image2.png]


, what are the coordinates of [image: image3.png](Dy o7, )P



?

3
If the coordinates of point A are [image: image4.png]


, what is the image of A under [image: image5.png]7 y—is



?

4
If point A has coordinates [image: image6.png]


, what are the coordinates of [image: image7.png]


, the image of A under [image: image8.png]"y omds



?

5
Find the coordinates of the image of [image: image9.png]


 under the transformation [image: image10.png]Dy © Ryge



.

6
The endpoints of [image: image11.png]AB



 are [image: image12.png]


 and [image: image13.png]


.  If [image: image14.png]4" B"



 is the result of the transformation of [image: image15.png]AB



 under [image: image16.png]Dy°oT,3



 what are the coordinates of [image: image17.png]


 and [image: image18.png]


?

7
The coordinates of [image: image19.png]MABC



 are [image: image20.png]


, [image: image21.png]


, and [image: image22.png]


.  If [image: image23.png]


 is the result of the transformation [image: image24.png]


, then [image: image25.png]


 is

	1)
	similar to [image: image26.png]MABC





	2)
	congruent to [image: image27.png]MABC





	3)
	a right triangle

	4)
	an equilateral triangle



8
Triangle [image: image28.png]ABcC



 is the image of [image: image29.png]MABC



 after a dilation followed by a translation.  Which statement(s) would always be true with respect to this sequence of transformations?


I.

[image: image30.png]MABC = AA'B'C





II. 
[image: image31.png]MNABC ~ AA'B'C





III. [image: image32.png]




  
      IV.
[image: image33.png]BB






1
ANS:


[image: image34.png]



[image: image35.png](3,-2) = (2,3) = (8,12)




REF:
011126ge

2
ANS:


[image: image36.png](14,-4)




REF:
019723siii

3
ANS:


[image: image37.png]



After the dilation, the coordinates are (–6,9).  After the reflection, the coordinates are (6,9).
REF:
010520b

4
ANS:


[image: image38.png]



REF:
080010siii

5
ANS:


[image: image39.png]



REF:
089340siii

6
ANS:


[image: image40.png]A“(-2,10)



 and [image: image41.png]B"(6,8)




After the translation, the coordinates are [image: image42.png]


 and [image: image43.png]B'(3,4)



.  After the dilation, the coordinates are [image: image44.png]A“(-2,10)



 and [image: image45.png]B"(6,8)



.
REF:
fall0823ge

7
ANS:
1
REF:
011002b

8
ANS:


II, only

NYSED accepts either (1) or (3) as a correct answer.  Statement III is not true if A, B, A’ and B’ are collinear.
REF:
061714geo

